Workshop Calculation and Science

ITI 2" Year, Common For All Two Year Engineering Trade
Module 8 Estimation and Costing (English/ Marathi)

221 : What is the other term used for reference table?
A : Dictionary

B : Biography

C : Bibliography

D : Information Table

221 : HesT TROUMHATSY araTelel gl HiT HIoTcT?
T. QrsCehRm

EHSITE]

o TALET

3T : AfgdT gRofr

omgfreestudy.com

222 : Which hand book referred by machine
engineer?

A : Parry's cheorikal

B:CRC

C : Mark standard

D : Oxford Dictionary

222 : I ATHIAT HIOTHT GTATAT JEARI HcaT
&dra?

3: 98 A3l

B: CRC

or: AT AT

3T 3TFARS AT

223 : What is a hand book?

A : Model book of various works

B : Type of reference work or other collection of
instruction

C : Design book of latest works

D : Dictionary of materials

223 : g3 % FgUTSl 12

A: Tafatr AT AlS g

 : HeT e YR fohal SeR Feeren Harg
C: AdITTH FHIAT 318 g

D : HIfgcaTaT ereganrer
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224 : Which standard schedule of rates to be
considered for estimation?

A : Standard schedule of rates of the last year

B : Standard schedule of rates of the average of the
last 10 years

C : Standard schedule of rates of the average of last
5 years

D : Standard schedule of rates of the current year

224 : 3ETSITATST ST HIUT Hleldh dBITh AR
eg1a?

A: AT IETAT 0 AleTeh dBTITH

§ : AT 10 AT TR S AleTeh dBTITh

C : AT 3 IUIAT AT & HATeAh dBTITh

D : Te] aST=T &U ATeTeh dBTIAeh

225 : What is an over estimate?

A : When an estimate is exceeded to actual estimate
B : When an estimate is fell short of the actual
estimate

C : When an estimate perfectly matches the actual
estimate

D : No work started as per estimate

225 : 3Td-37eTST FEUTSl H1I?

A: SIcgT 37eToT arEdideh 3TeTSITaeT SITEd arar
T : SicgT 37eTel arEd deh 37eTSITIeT ey 37adr
C : SiegT 3ieTsl aredideh JieTsmel quraeT Sfsdr
g : JCTSITTAR HIVTAET FIH & SATel TR

226 : What is a under estimate?

A : No work started as per estimate

B : An estimate perfectly matches with actual

C : An estimate is fell short of the actual estimate
D : An estimate is exceeded the actual estimate

226 : HHT JGToT FEUTS HIA?

A : JTCTSITTHR HITAET 1o T& SATel ATeT
9 : 3feTeT Yegetl quTaT Sesdr

& 37GTST AT JGISITIETT el 38

D : 3{gToT aTEdTdeh TGISITIETT SIed 38

Ans Key - 221:D; 222:C; 223:B; 224:D; 225:A; 226:C; 227:A;
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227 : What is the term used for the method of
calculating various quantities and expenditure on a
particular job or process?

A : Estimation

B : Drawing

C : Specification

D : Plan

227 : Taflrse s1er fohar ufshdadier fafaer yaror 3nfor

T AISTUATTAT TgAATSr HIUTAT 2eG aTIRelT SITT?
A: 3ieTst

CHECCIITE]
& qoeirer
aY: Arstel

omgfreestudy.com

228 : What is the main factor to be considered while
preparing a detailed estimate?

A : Shape of material

B : Brand of the materials

C : Quantity, availability and transportation of
materials

D : Location of material

228 : AYMAR 3Tl TIR AT HEF Teeh 0T
IEEINGR2ICIV

A: g 3R

o g S8

C: ATHA FATOT, TS 10T AT cleh

aY: AT TATA

229 : Which authority publishes schedule of rates?
A : Individual

B : Corporate

C : Partnership firm

D : Government department

229 : IOTY ATTAHIUT eI TSI ThTTAd cT?
A: 3gfFds

§: HIReT

C: H1IferT v

D : TR TasTeT

Ans Key - 228:C; 229:D; 230:D; 231:B; 232:A; 233:B;

Solutions and Explanation on
YouTube Channel

230 : What is the name of a booklet, the rates of
various terms are indicated?

A : Price bank

B : Price bunch

C : Price tag

D : Price catalogue

230 : Gi&chd =A1d ST 317¢, fafaer gaire X giad sel
3HTRA?

A: fFaa d&

< oA weg

C: fpaa &

2. TohAd Sheaiar

231 : What is the term, for the details of materials,
brand name, grade of quality, rating of current and
voltage etc.?

A : Drawing

B : Specification of materials

C : Raw materials
D : Price catalogue

231 : FIFEIAT I, S5 AT, ST Goll, e JoT
Sglocord eI ST AT 2Teg, I 3R ?

3 3@ifaF

T g quefter

h: T HTel

3 fFAT et

232 : What is the use of engineering drawing?

A : For estimation of material and execution of work
B : For colourful appearance

C : For reducing the cost

D : For increasing the cost

232 : ITAITTIRY YWThaATAT 3YTIT HIT?

A: I 37ETST ATTOT SHTHTAT HAATSTIUTHTST
§: e feaoarardr

C: @T HHAT FUATATS!

D : @Y dIGauATHTS

omgfreestudy.com
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233 : What is the other term of pocket reference in
engineering works?
A : Hand tool

B : Hand book

C : Good book

D : New book

233 : JTTAAITIRT Tl dlche HeHT gall =il Sy
3Te?

A: BT 9Tyt

< gTaTd J&sh

o TTITe JETh

31 odIe JEdh

omgfreestudy.com

234 : Which one is related to estimation of work?
A : Bill of material

B : Packing

C : Information table

D : Hand book

234 : FIUTAT HIATT JeTamedt Fafed e
A: gifgcard foer

o gfeher

C: Arfgdr arofr

3Y: gAY G

235 : What is a total cost?

A : Raw material cost only

B : Machining cost only

C : Raw materials cost and machining cost
D : Advertisement cost only

235 : TeHUT @ fahelt 32

A: FTTdT ATeTdT fhaAd herd

T HaFd AT T

& ST ATeTdl fohard 3for aehfeer @
3T: Bhard SATTedd @I

236 : Who prepares the cost of estimation?
A : Operator

B : Quality Inspector

C : Estimator

D : Draughts man

236 : eI R HIUT IR FA?
A: 3T

S A[UTdedT fateTeh

C: 3iaTalsh

Y. FYeT A

237 : Which one is included in machining estimation
sheet?

A : Transport cost

B : Advertisement cost

C : Raw material cost

D: Tax

237 : ANTAT JHETSTITHRI HIOTAT FHTAL HTE?
A: e T

T snfea @

& e AT fHed

D: &

238 : What is the minimum permissible size of
aluminium wire used in estimation?

A :1.5sg.mm

B:2.5sg.mm

C:5sg.mm

D :3.5sg.mm

238 : 3ETSTTel AU SATOTRAT g fA T araTr
fohaATeT AT 3R fohcdT 382

A: 1.5at#r

g:254hH

&F: 59t dr

D:3.5datar

239 : What is the minimum permissible area of
conductor (U/G cable) for three and half cores cable?
A 25sg.mm

B : 50 sg.mm

C:5sg.mm

D : 100 sg.mm

omgfreestudy.com
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239 : AT PR haTaTS hgaeld (U/G o)

AT RaTeTe ey &1 fohdlt 3me?

A: 25 =T

F: go TLAT

& 59 omgfreestudy.com

3r: 100 Tt &Y

240 : Which one is the most reliable estimate?
A : Preliminary estimate

B : Plinth area estimate

C : Cube rate estimate

D : Detailed estimate

240 : gaTd faeaaeiIT 3EIeT HIVTAT AR
A: JTATHS 3eTeT

T oot &7 3ierr

C: G & 37eTo

3Y: quefierar igrer

241 : Which IE rules are to be verified on completion
of wiring on any new installation?

A : IE Rules, 1956

B : IE Rules, 1960

C . IE Rules, 1961

D : IE Rules, 1967

241 : FIOTCATEY AT SeETereTay arfeT ot
SHTeATaT AU |E [FTH gsdiesel Saa?

A: IE [T, 1956

B : IE faa#, 1960

C: IE fag#, 1961

3 : IE faga, 1967

242 : What describes the detailed specification for the
item of work?

A : Quality, Quantity, Workmanship, Method of
execution

B : Colour

C : Tax, Transport, Overhead expenses

D : Maintenance, Stock, Cost

242 : HTATT HFCHATS TIMATdR qTfTel Iy qoiey
HIATCT?

A: 0T, JHTOT, HRIPRY, JHAAGSATGON Tgcd

T T

C : &, ATEeh, 3HTeeies @I

D : S@HTH, |3, @I

243 : Which of the impurity in cast iron makes it hard
and brittle?

A : Silicon

B : Sulphur

C : Manganese

D : Phosphorus

243 : PIEC AL IO HLGAHD of HAI0T
3o foges 812

A: faferelet

§: Hethi

C: HaTArST

D: BIEHTH

244 : What cables are used for 132KV lines?
A : High tension

B : Super tension

C : Extra high tension

D : Extra super voltage

244 : 132KV TS=TaTSN HIUTAT shaod aTdedT
SATATT?

3: 3= duna

T g TR0

| sfalerd 3= aror

31 AfARTFT g cglecst

245 : Which specification is other than general
specification?

A : Brief specification

B : Bulk specification

C : Detailed specification
D : Main specification

omgfreestudy.com
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245 : GTATY daeiercafaied iord aaefier 31g?
A: Ffared daeirer

: AT FATON Taeiier

& daeiierar aueirer

21 AT dafter

246 : What percentage of water absorbed by a good
building stone?

A : Less than 10%

B : Less than 20%

C : Less than 8%

D : Less than 5%

246 : AETeAT SARATTAT &GI8l Tohdll ToFeh TTOTT Mol ?
A: 10% 9&T AT
1 0% &IT AT
C : ¢% Q&TT FHAT
D : 4% &I AT

247 : What is the relative permittivity of rubber?
A : Between 2 and 3

B : Between 5 and 6

C : Between 8 and 10

D : Between 12 and 14

247 : TERTAT AI9ET GRaTeTal 1 31Tg?
A: 2 31707 3 TIAT IFTTeT
:9d & eI

F ¢ d g0 EFTA
D:¢d 28 EIFIA

248 : What is the weight of the iron ball has volume of
250 cc and density 7.5 gm/cc?

: 1750 gram

: 1875 gram

: 1975 gram

: 1785 gram

OO >

omgfreestudy.com

Ans Key - 248:B; 249:A; 250:C; 251:B; 252:C;

Solutions and Explanation on
YouTube Channel

248 : A3 el gateT 250 cc 3T '=1dT 7.5 gmice
ferclT 3mme

A: 1750 T

. 1875 9H

&% 1975 I

3. 1785 I

249 : What is the weight of a rectangular block of a
cost iron of 250cm X 20cm X 8cm (density of cast
iron is 7.8 gm/cm3)?
A:312kg
B:372kg
C:410kg

D : 525 kg

249 : 250cm X 20cm X 8cm (Wmﬁiﬁm 7.8
gm/cm? 37Tg) fehacieaT AIESTeaT 3T Tl scilehe
FoteT fohell 3R

A: 312 frelr

 : 362 fohall

T 410 foRelr

ar: 525 frar

omgfreestudy.com

250 : What is the total estimation cost for making the
component of 8 drilled hole dia 10 mm and 4
Numbers of M6 taps in the plate, if Rs.8/- per drilled
holes and Rs.12 per drill and tap?

A Rs.102

B : Rs.100

C:Rs.112

D:Rs.110

250 : TolcHtTer 8 f3eT shetel Hleh ear@ 10 fAFAY 3for
M6 T 4 AR Teeh STqUATHIS! THUT 3HeTol @l
fordlT 3TE, SR IAS f3eT Fholear grars! ©.8/- 3o
gfa fger anforcu . 122

3: 3. 20

T:%. 100

T LR

5:3%.110
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251 : What is the estimation of milling cost of a
rectangular block size 100 X 80 X60 mm, if cost of
the milling is Rs.2/sg.cm?

251 : 100 X 80 X 60 fR#AY 3TeRRT=AT 3R
solteh=ar fATT W= 3ieTeT S 318, S} ATy
AT T, 2/AT QY 3 7?

AN

: Rs.652/-
omgfreestudy.com

: Rs.752/-
: Rs.572/-
: Rs.960/-

o0 w>

252 : What is the total wattage in a room if 2 tube
lights of 50W rating, 2 fans of 80W rating, 2 numbers
of light points of 60W rating, one fan point of 60W
rating and one 3 pin socket of 100W rating?
A:340W

B:440W

C:540W

D:640W

252 : relld 50W ¥feare 2 egaeiise, 80W Ifear 2
qd, 60W IfEarer 2 genrer fig, 60W IfEare veh uw dise
37191 100W IFETRT 3 T Hiche I TeATH THUT dest

fordT 31M8?
A:340W
B:440 W
C:540 W
D:640W

253 : What is the total labour charges for a particular
wiring work completed in 2 days by one electrician
and one helper.(Electrician @ %¥800/day and helper
@ X 400/day)

A : Rs. 2000

B : Rs. 2400

Solutions and Explanation on
YouTube Channel

C : Rs. 3000
D : Rs. 1400

253 : UehT Solfare fATST 0T Tl A= 1a= 2 feaara
qUT sheledT ArIRITEAT HIHATATSE URUT 4 Loeh fohell
AR, (SATFeiATT @ I800/fGad 30T ASA-IH @
2400/f¢a®)
3:%. 2000
: 3. 2400
& %. 3000
3T %, 1400

omgfreestudy.com

254 : What is the total cost of painting of a class room
including ceiling, if the size of length is 6m, breadth is
5m and height is 4m. (Painting + labour cost Rs.150/-
per sg.m)

A : Rs.15000/-

B : Rs.16700/-

C : Rs.17700/-

D : Rs.18700/-

254 : TATHE 9 Wrelrear Afarl e faherd faner
TR, SR ATEIET 3R 6 FY, FET 5 FHIeI 70T 34T 4
e 3/ 8. (RFeher + 57 @I %, 150/- 9fa =tar)
3. F. §9000/-
F: 3. 2Eboo/-
& T. 2llyoo/-
T :3F. ¢¢loo/-

255 : What is the total cost to assemble 10 personal
computer systems, spares cost as given for one
system: 1 TB hard disc Rs.4500/-, Intel i3 mother
board Rs.7000/-, SMPS Rs.2500/-, monitor Rs.6000/-
, keyboard Rs.1000/-, other material cost (Switches,
USB, Cables etc.,) Rs.6500/-?

A : Rs.275000/-
B : Rs.250000/-
C : Rs.225000/-
D : Rs.265000/-

255 : 10 Y¥TeT hiFegeX TAEEIH Aol HIOITHTS!
THUT T ol 317e, TenT FAESTHATST feeleam Ta3rd=h
R 1 el 818 3% 3. 4500/-, 3¢l i3 AT A3 .

omgfreestudy.com
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7000/-, SMPS . 2500/-, AffeteX ¥.6000/-, &S
%.1000/-, 3R @rfgcard fFad (Raw, USB, Faed 3.,)
¥.6500/-?

3: %.275000/-

: $.250000/-

&: &. 225000/-

D : &. :€Y000/-

omgfreestudy.com

256 : What is the total construction cost of a house
construction area of 3000 sq.ft. (cost of construction
Rs.2000/- per sq.ft including material and labour)?
A : Rs.30,000,000

B : Rs.60,00,000

C : Rs.6,00,000

D : Rs.6,000,000

256 : 3000 TIHIE & FHehTeT THTOT &7 1 et folaToT
oTaTet feheteit 82 (FVHTOT Y ST €.2000/- Tt @et Be
qreafT 3R o |fga)?

T: %. 30,000,000

dT: %.60,00,000

T %.6,00,000

31: %.6,000,000

257 : What is the total cost of Air-conditioners
installed in a college, 40 class room-each 1 Air-
conditioner, Computer lab 5 Air- conditioners and
conference hall 5 Air-conditioners (Cost of one air
conditioner Rs.30000/- including installation)?

A : Rs.10 lakhs

B : Rs. 20 lakhs

C : Rs. 12 lakhs

D : Rs. 15 lakhs

257 : AT SHdeledT dlclelshiold AT THUT
feferet foclt 3112, 40 et @el-yedh 1 ararshia,
HITOTeh GAITRATGRT 5 ATcllelehioled I 10T Shlethicd gl
5 aTdTeJsRioid AT (THT UIR ISR fhae 2.
30000/-) FATIAHE)?

A:%. 10 dT@

F:%. 20 T

Solutions and Explanation on
YouTube Channel

F: 3. 12 g
T, 159G

258 : What is the total estimation cost for mandrel, if
density is 7.8 gm/cm?2 and material cost is Rs.240 kg?

258 : S ©eIdT 7.8 ATH/AHT* 318 cl 0T ACRIer
fohereT 3. 240 fahall 3T oR Vel Tt 3ierst foharet
T 3m8?

230
_ _ _ §‘
|
18 120 18_ %
A :0.65kg
B :0.90 kg
C:0.70 kg
D:0.75kg

259 : What is the estimation of labour charge for
making inside square of size 30 X 30 mm, if making
charge Rs.500/10cmz2?

259 : 30 X 30 mm 3{ThRI=AT Tdle AT JIR
FIOITHTS FSY ehrdl 37ersT 500/10cm? T eard
T 38

: Rs.500/-
: Rs.450/-
: Rs.350/-
: Rs.400/-

o0 o>

omgfreestudy.com
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